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REIR  A#EE ®g t=3cm
I e
® W BEERET7 A2 (13) = B MEETA22013)
TRER ®BE95vvr—3Y REN TREE BEITvLr—3> R0 =g t=10cm
J-FE  BE VM- B
T4 NE—E t=5cm
;j o ! .vza G:; BHME ¢ 114mm
i 38 11 1.794 m
TEHIE 0.850 m
B H Ot %T%ﬁ% 0. 100 m
. BERIERE 0.100 m
1mY4 V&
4 g1 EARSTE i L = i
ST T As t=3cm 1.00 X 2 = 2.00 m
SR g T As 0.85 X 1.00 = 0.85 m2
K ARG T 0.85 X 1.764 X 1.00 = 1. 50 m3
B EI T = 1.50 m3
ANOFEH LT 0.85 X 1. 00 = 0. 85 m2
MR T b (0.8 X 0.314 -(m/4%X 0.114 "2)) X 1.00 = 0.26 m3
R T At 0.85 X 1.300 X 1. 00 - 111 m3
RC-30
TRERE T t=10cm 0.85 X 1. 00 = 0. 85 m2
Wb
7 4 IVH —]E t=bcm 0.85 X 1. 00 = 0. 85 m2
sy 1L B
Yy I + W .50 - 1.11 X 1.11 = 0.27 m3
LA TEE = 0.27 m3
FEBHALS T As 0.85 X 0.03 X 1. 00 = 0.03 m3
FRA R (13)
B IH L As t=3cm 0.85 X 1. 00 = 0. 85 m2
R T H=2. 00m = 1.00 m
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Bt A L3 = 1.47 m3
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RIEIH L As t=3cm 0.85 X 1. 00 = 0. 85 m2
TR B AR T H=2. 50m = 1.00 m
KT 1B = 1.00 m




14

A% 100 ( FGEHEBS-3% ) H= 1.24 m
SR X[ N o.15+881.19 ~ N o.15+887.40 L= 6.21 m
WA Tk D
| 128 | 1.20 | | # oy
iENA 6. 21 ) 6.21 @-=0
X 9k 0 X EEE 7.70 @ 7.70 | 1.24
(EEH:BE—38)
REE | R 2 toen
! g t=bcm
|
EE EEEHET A2 (13) £ BETHET AT > Q0 FEEAEE t=10cm
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TERE T t=30cm 0.55 X 1. 00 = 0. 55 m2
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Yy LA D + W 0.74 - 0.35 X 11 = 0.35 m3
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FEBH AL T As 0.55 X 0.10 1. 00 = 0. 06 m3
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R P I T 0.55 X 1.384 X 1.00 = 0.76 m3
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MR T T ( 0.55 X 0.314 -(x/4x 0.114 "2)) X 1.00 = 0. 16 m3
HORE T il 0.55 X 0.920 X 1.00 = 0.51 m3
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vp| 100 |86.943 | 0.096
INet 2 2 1i 2 2% 2 2§ 0009 2
At 2 2 1i1 2 212 2§ 0.009 2




Fsdr—y ) XSEHT ¢ 2000 mm  (GRENEA) iR (D 2 fE
1 1

i B o Hifir | No. 16 No. 19 aak
PEHITE EAIRHIFEIA T) m 5. 045 6. 583 11. 628
JEAGE U 5. 245 6. 783 12. 028
SEHUR I 4. 145 5.633 9. 778
JlkE U 0. 900 0. 900 1.800

A+ N=5 m 4. 700 5.410 10. 110
5<<N =30 i
WE I N =30 U 0. 545 1.173 1.718
TEEE 30< N =50 U - -
g+ N =30 I - -
30< N =50 U - -
&t m 5. 245 6. 583 11.828
SHALHUE L
SHEEEIT T |As t=10em  EGE m 7.29 7.99
BERUE T |As  t=10cm  H m2 4.01 4.01
EREEDINT T [As  t=bcm iiE m 7.29 7.29
SHIEBUE T |As  t=bem iRl m2 4.01 4.01
sy [As m3 0. 40 0. 20 0. 60

FEAE ALy m3 15.73 20. 63 36. 36




s =) XSEHT ¢ 2000 mm  (FREITEA)

gt (2)

i H

fE Bl

No. 16

No. 19

PAN=

o
JEAET)) -} |30-18-20N m’ 3.1 3.1 6.2
ATAMLER  [JeKAy & I 1.2 1.2 2.4
MR T 7o harsy—Fk m’ 3.52 5.51 9.03
v+ /U 1. 42 1.76 3.18
G-y Kb
SegEr-yv)” 1 $2000mm t=12 1 = 2.4 A 1 1 4.8 2
HR=v/) |9 2000mm t=12 1 = 2.4 U - 1 2.4 1
A=) 1 $2000mm t=12 1 = 1.1 U - 1 1.1 1
#&=v)T [ $2000mm t=12 1 = 2.0 I 1 - 2.0 1
Exh=vv)" | 2000mm t=12 1 = 2.0 U 1 1 2
el ZN 3 4 10. 3




FHE—y " ATHL ¢ 2000 mm  (FZEHEA) HEHE (3)
fiH | gl |$ﬁ| No. 16 | No. 19 | A
AL N PEES AT 1 1 2
gL I 1 2 3
LT IREEE m 6.3 6.3

r=y ) WEE m 1. 455 1. 467 2.922

Ty Gl R l 12.10 12. 20 24. 30
2597 EE t 0. 902 0. 909 1.811
gk A |PW%H& <z>2000mmﬁﬁ| & | 1 1 2
SEEEEIHT. [{RIEIH

[E]

F=JE L PRI EET A2/ (13)  t=3cm | m2 3. 48 3. 48
BT DRI (M=30)  t=12cm [ » 3. 48 3. 48
TREEET  [EAMS (RC-30)  t=10cm I 3. 48 3.48

[FE]

#=JE L PRI EET A2/ (13)  t=3cm | m2 3. 48 3. 48
FERET R A (M=30)  t=17cm | 0 3. 48 3. 48
PERAET | AR (RC-30)  t=30cm ) 3.48 3. 48




I - BRUIRL T ($h8)

I iE g = =2
EEallin FEUE = 2.000 m
NEE=2nr -tan(180° /n) n 3. r R
L= 2 x 8 x (220 / 2 )x tan(180° / 8 ) = 7.290 7.29 m
(FEUr1%+0.200)

SR EfE=n - r’-tan(180° /n) no: 0%, o 2

A= 8 x ( 2200 / 2 )% x tan(180° / 8 ) = 4.010 4.01 m?

(FETAE+0.200)

SR A= 4.010 —  0.820 Zx /4 = 3.482 3.48 m?




No.
B H = HAL| %% &
SEHURTE T (No. 16 SZHD) FETEOME ¢ 2000 mm
t=_ 12 mm FENEE o 2066 mm
FE ML 6 2090 mm
I (JEAIRHIFEA T) m 5.045
JEEWUNES I 5.245
RASIRES ) 4.145
gl ) 0.900
HEEE A+ (N=5) 4.700 m 4.700
Il (5<N =30) Il
E 1+ (N=30) 0.545 ) 0.545
U (30< N =50) I —
S 1 (N=30) i -
I (30<N=50) I -
& El m 5.245
ShAE R T W
EHEDIE T |t=10cm (p1)3% [ G - B L Ik i) | JV) m 7.29
EHERUE T |t=10cm (p1)3% [ G - B L (3L i) | JV) m” 4.01
gy As 4.01 X 0.10 m’ 0.40
ey 2.090 ° X m/4 X 5045 - 142 X 1.1l m’ 15.73




¥ B EH H O E=
No.

4 g B = Hir| ¥ &
R )M (AR LY) m® 3.1
AFA BRLER ek B (AARTER XD) m® 1.2
TR E

SeBEr— ) 6 2000 mm t= 12 mm = 24 m 7N 1

=y » 2000 mm t= 12 mm = 2.0 m I 1

RERr—= ) » 2000 mm t= mm = 2.0 m I 1

& &t ZN 3
RO MES (& FT 1
Ay Bl
1FE T YVEHEIERE (BEARTERK I LY) m 6.3
=y I EE m 1.455
F=yrgikrE 12.000 X w + 1.455 X4 m 12.1
ATy HE
(=D 1.455 X  0.615 t/m t 0.895
(B) ( 0.206 4+ 0.10 )? X /4 X 0.0942 t/m2X AT I 0.007
(&) ( + )2 X /4 X 0.0942 t/m2 X =B I
t 0.902
b2 AW & 2000 mmfH ] 1




No.
A Bl # &=

(AR 1H) VRE
PRI 7 21 (13) t=3cm (Bl [ T - G L T (Gki) 1 10) | m? 3.48
BIgRf A (M=30)  t=17cm m” 3.48
m” 3.48

B4 (RC-30)  t=30cm




& i A EELHEFE)
No.
4 N = e HAr | % &
(No. 16 ~7HD) Sl FEOY 2000 mm
t= 12 mm HHE N 2066 mm
S 7 2090 mm
HELES r— TR m 2.645
— 1.50 — 0.500 U 1.000
ISR |38 I 0.500
Sr—3 7R L 7Ivbar ) —h
ARl Vi= 2,066 2X 1 /4X  2.645 8.87 m’
Pep| V21= -1.66 "2X 1 /4 X 0.11 -0.24 Il JEERR
V22=  -1.60 2X /4%  2.400 -4.83 VBRI 'S A=
V23= -1.60 2X /4%  0.135 -0.27 I ERA
(2.645-0.110-2.400)
V24= -0.206 2X £ /4X  0.233 X 1 -0.01 I PRP
m’ 3.52
— IR L i+
A VI= 2.090 2X £ /4X  1.000 3.43 m’
PeRRl Vol=  -1.60 "2X /4% 1.000 -2.01 I =R
m® 1.42




No.
B B = HAL| %% &
SEHURTE T (No. 19  SiHD) FETEOME ¢ 2000 mm
t=_ 12 mm FENEE o 2066 mm
FE ML 6 2090 mm
HHIEE JEASRHIFEHA T) m 6.583
JEEWUNES I 6.783
SEHUIE U 5.633
gl ) 0.900
HEEE A+ (N=5) 5.410 m 5.410
Il (5<N =30) Il
E 1+ (N=30) 1.173 ) 1.173
U (30< N =50) I —
S 1 (N=30) i -
I (30<N=50) I -
& El m 6.583
ShAE R T s
SHASUIWT T | t=bcm (p1)3% [ G - B L Ik i) | JV) m 7.29
SHIEBUE T [t=5cm (p1)3% [ G - B L (3L i) | JV) m” 4.01
gy As 4.01 X 0.05 m’ 0.20
ey 2.090 ° X m/4 X 6583 - 176 X 1.11 m’ 20.63




% RO 6 O®
No.

4 g B = Hir| ¥ &
R )M (AR LY) m® 3.1
AFA BRLER ek B (AARTER XD) m® 1.2
TR E

SeBEr— ) 6 2000 mm t= 12 mm = 2.4 N 1

thif =) 6 2000 mm t= 12 mm = 2.4 I 1

=y » 2000 mm t= 12 mm = 1.1 I 1

RERr—= ) 6 2000 mm t= 12 mm = 2.0 I 1

& EBh ZN 4
RO MES (& FT 1
Ay e

1FE T YVEHEIERE (BEARTERK I LY) m 6.3

=y I EE m 1.467

F=yrgikrE 12.000 X w + 1.467 X4 m 12.2
ATy HE

(=D 1.467 X  0.615 t/m t 0.902

(B) ( 0.206 4+ 0.10 )? X /4 X 0.0942 t/m2X AT I 0.007

t 0.909

b2 AW & 2000 mmfH ] 1




No.
A Bl # &=

(AR 1H) [iILE|
PRI 7 21 (13) t=3cm (Bl [ T - G L T (Gki) 1 10) | m? 3.48
BIgRf A (M=30)  t=12cm m” 3.48
m” 3.48

B4 (RC-30)  t=10cm




& i A EELHEFE)
No.
4 N = e HAr | % &
(No. 19 ~7HD) Sl FEOY 2000 mm
t= 12 mm HHE N 2066 mm
S 7 2090 mm
HELES r— TR m 4.133
— 1.50 — 0.250 U 1.250
AL S iiE U 0.250
Sr—3 7R L 7Ivbar ) —h
ARl Vi= 2,066 2X 1w /4X 4133 13.86 m’
Pep| V21= -1.66 "2X 1 /4 X 0.11 -0.24 Il JEERR
V22=  -1.60 2X /4%  2.400 -4.83 VBRI 'S A=
V23= -1.60 2X x/4X  1.500 -3.02 I ERA
V24= -1.60 2X x/4X  0.123 -0.25 I =R
(4.133-0.110-2.400-1.500)
V25= —0.206 2X £ /4X  0.233 X 1 -0.01 I PRP
m’ 5.51
— IR L i+
A VI= 2.090 2X £ /4X  1.250 4.29 m’
Pl V21= -1.60 2X 1t /4 X 1.077 -2.17 I =R
(1.500-0.160-0.013-0.25)
V22= -1.66 2X x/4X 0.160 -0.35 TEhR
V23=  —-0.90 2X /4%  0.013 -0.01 I R
m® 1.76




7K£§E/ 'l# S:EE

WL WBEL [k 3 ®F (R I;le—d-— S
0 T
SZ1NO. [ERii m m m m N m
1 5.400 5.400 1 2
=1 H 5. 400 5. 400 1. 000 2. 000
HEHES OQ#H =06 KEEHBFHFH=. x



7K

B #

A H

B 7»

ok

4

s

85.975

FITinm

81.576

O|m|>

B—1.00m

80.576

A—C
o)

9.399

9. 400

AN o: 1

RS

EITinm

O|m|>

B—1.00m

W FABr BiNo.

i -IJv9 Gl

85. 300

0.6/5 1

A—C

& -Jv) GL

1 FABr No.

+ B

TEE

E

JILE-FiE[C]

5. 400

5. 400 0. 000

0. 000

0. 000

0. 000

0. 000

0. 000

0. 000

0. 000

0. 000

0. 000

0. 000

0. 000

0. 000

0. 000

0. 000

0. 000

0. 000

0. 000

0. 000

0. 000

0. 000

HE#EL[G]

0. 000

WG]

0. 000

wE+[s]

0. 000

wELE[S]

0. 000

Yk $EFC]

5. 400

Y- $EF]C]

0. 000

i

9. 400

it

0. 000

Q%206 KEHAHFHE xIs




XK B # A H £ B H F R

A HEES A RS
B EITiim AN o: B EITiEgE IHINo:
C B—1.00m C B—1.00m
A—C A—C
) 1 FABr No. i & @ HABr No
& -Uvh GL 0. 000 i =1vh GL 0. 000
+ = TEE 2 i + = TEE £ E
1L [(G] 0. 000 0. 000
3T bk-#E[C] 0. 000
0. 000 2WEL[S] 0. 000
3T bk-#E[C] 0. 000
2WEL[S] 0. 000
SVIk-#E[C] 0. 000
0. 000 2WEL[S] 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
Mgt [G] 0. 000 Bt [ G 0. 000
MEL[S] 0. 000 HEL[S] 0.000
DIVt C] 0. 000 DIVt C] 0.000
il 0. 000 Bt 0. 000

Q%206 KEHAHFHE xIs



4 = Hi = ==
I & AERIEHIT
£ h =1 = Bl % =
W=1. 00 x L=2. 00 x H1. 50 (2 Fr)
EEBRBHIEEERE

(1.00+2.00) x2.00x2 12.0

EHAE MR U B m
1.00%x2.00x%x2 4.0

SRR T m2
4.00x0.05 0.2

TA77 0 pER A0 5y B m3
(4.00x1.50)-0. 2 5.8

BEBAEEIT (V v949) m3
(4.00x1.50)-0. 2 5.8

BB ABRT m3
1.00%x2.00x%x2 4.0

=E (HEREE) m2




